Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many Bepunb does a ky6 have?
1.
2) How many snuua does a mpsAMoyroJibHas npusma have?
2.
3) How many sumua does a mpsAMoyroiibHas mupamua have? 3
4) How many Bepiunsl does a mpsAMOyTojibHas mupamuaa have? 4.
5) How many kpas does a TpeyronabHas npusma have? 5.
6) How many nuua does a TpeyrosnbHas npusma have? 6.
7.
7) How many kpas does a ky0 have?
8.
8) How many Bepumnsi does a cepa have?
9.
9) How many Bepumns! does a npsmMoyrosibHast mupamuia have?
10.
10) How many kpas does a npsMoyroibHas npuzma have?
11.
11) How many kpas does a cdepa have? b
12) How many kpas does a npsmoyrosbHas nupamuaa have? 13
13) How many nuia does a npsiMmoyrosbsHas nupamuaa have? 14.
14) How many kpas does a npsmoyroyibHas nupamuia have? 15.
16.
15) How many snuua does a ky6 have?
17.
16) How many nuua does a cepa have?
18.
17) How many Bepiuunsl does a npsiMoyrosibHas npusMa have?
18) How many Bepiuunsl does a TpeyronbHas npusMa have?
M 1 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepunb does a ky6 have? 8
1.
2) How many auna does a npsamMoyrojibHas npusma have? 6
2.
3) How many nuia does a npsMoyroibHas nupamua have? 3 5
4) How many Bepiunsl does a mpsAMOyTojibHas mupamuaa have? 4. -
5) How many kpas does a TpeyronabHas npusma have? 5. 9
6. S
6) How many nuua does a TpeyrosnbHas npusma have?
7. 12
7) How many kpas does a ky0 have?
8. 0
8) How many Bepumnsi does a cepa have?
9. S
9) How many Bepiuunbl does a npsAMOyroybHas mupamuaa have?
10. 12
10) How many kpas does a npsMoyroibHas npuzma have? 0
11.
11) How many kpas does a cdepa have? b 8
12) How many kpas does a npsmoyrosbHas nupamuaa have? 13 4
13) How many nuia does a npsiMmoyrosbsHas nupamuaa have? 14. 6
14) How many kpas does a npsmoyroyibHas nupamuia have? 15. 6
16. 1
15) How many snuua does a ky6 have?
17. 8
16) How many nuua does a cepa have?
18. 6
17) How many Bepiuunsl does a npsiMoyrosibHas npusMa have?
18) How many Bepiuunsl does a TpeyronbHas npusMa have?
M 1 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
aTeéMaTuka www.CommonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many nuia does a TpeyrosbHas npusma have?
1.
2) How many Bepiunsl does a TpeyroibHas npusma have?
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3
4) How many nuna does a npsMoyrojbHas nupamuga have? 4.
S) How many kpas does a npsiMmoyrosibHas pu3Ma have? 3.
6) How many Bepiunsb does a ky6 have? 6.
7.
7) How many Bepumnsl does a cepa have?
8.
8) How many nuna does a cdepa have?
9.
9) How many Bepiuunbl does a npsAMOyroybHas npusMa have?
10.
10) How many Bepumnsl does a npsMoyrosbHas nupamuga have?
11.
11) How many kpas does a TpeyronabHas npusma have? b
12) How many kpas does a cdepa have? 13
13) How many nuia does a npsiMmoyrosbsHas nupamuaa have? 14.
14) How many nuia does a npsmoyrossHas npusma have? 15.
16.
15) How many Bepmmnbl does a npsMoyroybHas nupamuaa have?
17.
16) How many kpas does a ky6 have?
18.
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many nuua does a ky6 have?
M 2 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




ﬂh Xapakrepuctuku 3D-duryp (Word) Umst:

Kiwu k IpaBUJIBHBIM OTBETaM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many nuia does a TpeyrosbHas npusma have? 5
1.
2) How many Bepiunsl does a TpeyroibHas npusma have? 6
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3 8
4) How many nuna does a npsMoyrojbHas nupamuga have? 4. 5
S) How many kpas does a npsiMmoyrosibHas pu3Ma have? 3. 12
8
6) How many Bepiunsb does a ky6 have? 6.
7. 0
7) How many Bepumnsl does a cepa have?
8. 1
8) How many nuna does a cdepa have?
9. 8
9) How many Bepiuunbl does a npsAMOyroybHas npusMa have?
10. S
10) How many Bepumnsl does a npsMoyrosbHas nupamuga have? 9
11.
11) How many kpas does a TpeyronabHas npusma have? b 0
12) How many kpas does a cdepa have? 13 4
13) How many nuia does a npsiMmoyrosbsHas nupamuaa have? 14. 6
14) How many snia does a npsiMmoyrosbsHast ipuzma have? 15. 4
16. 12
15) How many Bepmmnbl does a npsMoyroybHas nupamuaa have?
17. 6
16) How many kpas does a ky6 have?
18. 6
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many nuua does a ky6 have?
M 2 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
aTeéMaTuka www.CommonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many Bepiunbl does a mpsAMOyroJibHas nmpusMa have?
1.
2) How many auna does a npsamMoyrojibHas npusma have?
2.
3) How many kpas does a npsmoyrosibHas npusma have? 3
4) How many Bepumubl does a ky0 have? 4.
5) How many nuua does a TpeyronsHas npu3Ma have? 5.
6) How many sepumnsl does a cepa have? 6.
7.
7) How many smna does a npsMoyroJbHas nmupamuaa have?
8.
8) How many nuua does a chepa have?
9.
9) How many kpas does a cdepa have?
10.
10) How many kpas does a npsMoyronsHas nupamuzaa have?
11.
11) How many Bepiunsl does a npsiMoyrosibHas mupamuia have? b
12) How many Bepmmns does a TpeyronbHas npusMa have? 13
13) How many Bepiunbl does a mpsAMOyroJbHas mupamua have? 14.
14) How many kpas does a ky6 have? 15.
16.
15) How many kpas does a npsmoyronbHas nupamuaa have?
17.
16) How many nuua does a ky6 have?
18.
17) How many snuna does a npsaMoyrosibHas nupamuaa have?
18) How many kpas does a TpeyroinHas npusma have?
M 3 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepiunbl does a mpsAMOyroJibHas nmpusMa have? 8
1.
2) How many auna does a npsamMoyrojibHas npusma have? 6
2.
3) How many kpas does a npsmoyrosibHas npusma have? 3 12
4) How many Bepumubl does a ky0 have? 4. 8
5) How many nuua does a TpeyronsHas npu3Ma have? 5. S
6. 0
6) How many sepumnsl does a cepa have?
7. S
7) How many smna does a npsMoyroJbHas nmupamuaa have?
8. 1
8) How many nuua does a chepa have?
9. 0
9) How many kpas does a cdepa have?
10. 6
10) How many kpas does a npsMoyronsHas nupamuzaa have? 5
11.
11) How many Bepiunsl does a npsiMoyrosibHas mupamuia have? b 6
12) How many Bepiuunsl does a TpeyronbHas npusma have? 13 4
13) How many Bepiunbl does a mpsAMOyroJbHas mupamua have? 14. 12
14) How many kpas does a ky6 have? 15. 8
16. 6
15) How many kpas does a npsmoyronbHas nupamuaa have?
17. 4
16) How many nuua does a ky0 have?
18. 9
17) How many muna does a npsMoyrosibHas nupamuga have?
18) How many kpas does a TpeyroinHas npusma have?
M 3 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many kpas does a npsmoyronbHas npu3ma have?
1.
2) How many Bepiunsl does a mpsAMOyrojbHas nmpusma have?
2.
3) How many muna does a cdepa have? 3
4) How many muna does a ky0 have? 4,
S) How many kpas does a cdepa have? 3.
6) How many sepumnsl does a cepa have? 6.
7.
7) How many smna does a npsMoyroJbHas nmupamuaa have?
8.
8) How many Bepiuunbl does a npsAMoyronbHas nupamuaa have?
9.
9) How many nuna does a npsiMoyrosbHas nmpusma have?
10.
10) How many kpas does a ky6 have?
11.
11) How many kpas does a TpeyronabHas npusma have? b
12) How many nuna does a TpeyronsHas nmpusma have? 13
13) How many Bepmmnbl does a mpsMoyronbHas nupamuaa have? 14.
14) How many nuna does a npsMoyronbHas nupamuaa have? 15.
16.
15) How many Bepumnbl does a TpeyronbHas npusMa have?
17.
16) How many kpas does a npsmMoyroiabHas nupamuaa have?
18.
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepiunst does a ky6 have?
M 4 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18139]133 2822 [17]11] 6 | O




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many kpas does a npsmoyronbHas npu3ma have? 12
1.
2) How many Bepiunsl does a mpsAMOyrojbHas nmpusma have? 8
2.
3) How many muna does a cdepa have? 3 1
4) How many muna does a ky0 have? 4. 6
S) How many kpas does a cdepa have? 5. 0
6. 0
6) How many sepumnsl does a cepa have?
7. 4
7) How many smna does a npsMoyroJbHas nmupamuaa have?
8. 4
8) How many Bepiuunbl does a npsAMoyronbHas nupamuaa have?
9. 6
9) How many nuna does a npsiMoyrosbHas nmpusma have?
10. 12
10) How many kpas does a ky6 have?
11. 9
11) How many kpas does a TpeyronabHas npusma have? b 5
12) How many nuna does a TpeyronsHas nmpusma have? 13 5
13) How many Bepiunbl does a mpsAMOyroJbHas mupamua have? 14. S
14) How many nuna does a npsMoyronbHas nupamuaa have? 15. 6
16. 8
15) How many Bepumnbl does a TpeyronbHas npusMa have?
17. 6
16) How many kpas does a npssmMoyrosbHas nupamuaa have?
18. 8
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepiunst does a ky6 have?
M 4 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many nuia does a xy6 have?
1.
2) How many kpas does a npsMoyrojbHas npusma have?
2.
3) How many Bepumubl does a ky0 have? 3
4) How many Bepmuubl does a TpeyrojibHas npusma have? 4.
S) How many kpas does a npsiMoyrosibHas mupamua have? 3.
6) How many nmua does a npsMoyrosbHas nmupamuaa have? 6.
7.
7) How many Bepumnsl does a npsmMoyroyibHas nupamuaa have?
8.
8) How many nuua does a npsiMmoyrosbHas npusma have?
9.
9) How many Bepiuunbl does a npsAMOyroybHas npusMa have?
10.
10) How many muna does a TpeyronsHas npusMa have?
11.
11) How many nuua does a chepa have? b
12) How many kpas does a cdepa have? 13
13) How many kpas does a xy6 have? 14.
14) How many Bepiuuns does a cpepa have? 15.
16.
15) How many nuua does a npsaMoyronsHas nupamuzaa have?
17.
16) How many kpas does a TpeyroabHas npusma have?
18.
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
M 5 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many nuia does a xy6 have?
L 6
2) How many kpas does a npsMoyrojbHas npusma have? 12
2.
3) How many Bepumubl does a ky0 have? 3 8
4) How many Bepmuubl does a TpeyrojibHas npusma have? 4. 6
5) How many kpas does a npsMoyronsHas nupamuaa have? 5. 8
6. S
6) How many nuna does a mpsMoyrosibHas nupamuga have?
7. S
7) How many Bepumnsl does a npsmMoyroyibHas nupamuaa have?
8. 6
8) How many nuua does a npsiMoyrosbHas nmpusma have?
9. 8
9) How many Bepiuunbl does a npsAMOyroybHas npusMa have?
10. S
10) How many muna does a TpeyronsHas npusMa have? 1
11.
11) How many nuua does a chepa have? b 0
12) How many kpas does a cdepa have? 13 12
13) How many kpas does a xy6 have? 14. 0
14) How many Bepumnsl does a cepa have? 15. 4
16. 9
15) How many nuua does a npsaMoyronsHas nupamuzaa have?
17. 6
16) How many kpas does a TpeyronabHas npusma have?
18. 4
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
M 5 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many Bepunbl does a TpeyrosbHas npusma have?
1.
2) How many Bepiunsl does a mpsAMOyrojbHas nmpusma have?
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3
4) How many nuna does a npsMoyrojbHas nupamuga have? 4.
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3.
6) How many Bepumnsl does a npsmMoyrosbHas nupamuaa have? 6.
7.
7) How many kpas does a npsMoyrosisHas nupamua have?
8.
8) How many nuua does a npsiMmoyrosbHas npusma have?
9.
9) How many nuna does a cepa have?
10.
10) How many kpas does a npsMoyroibHas npuzma have?
11.
11) How many kpas does a cdepa have? b
12) How many nuna does a TpeyronsHas nmpusma have? 13
13) How many kpas does a TpeyronbHas npusMa have? 14.
14) How many kpas does a ky6 have? 15.
16.
15) How many Bepumnsl does a Kky6 have?
17.
16) How many Bepiuunsl does a chepa have?
18.
17) How many nuua does a ky0 have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
M 6 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemure kaxayr 3axauy. OTBeTHI
1) How many Bepunnbl does a TpeyronbHas npusma have? 6
1.
2) How many Bepiunsl does a mpsAMOyrojbHas nmpusma have? 8
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3 6
4) How many nuna does a npsMoyrojbHas nupamuga have? 4. 4
S) How many nauua does a mpsMoyrosbHas nupamuzaa have? 5. S
6. S
6) How many Bepumnsl does a npsmMoyrosbHas nupamuaa have?
7. 8
7) How many kpas does a npsMoyrosisHas nupamua have?
8. 6
8) How many nuua does a npsiMoyrosbHas nmpusma have?
9. 1
9) How many nuna does a cepa have?
10. 12
10) How many kpas does a npsMoyroibHas npuzma have? 0
11.
11) How many kpas does a cdepa have? b 5
12) How many nuna does a TpeyronsHas nmpusma have? 13 9
13) How many kpas does a TpeyronbHas npusMa have? 14. 12
14) How many kpas does a ky6 have? 15. 8
16. 0
15) How many Bepumnsl does a Kky6 have?
17. 6
16) How many Bepumnsl does a cdepa have?
18. 4
17) How many nuua does a ky0 have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
M 6 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18139]133 2822 [17]11] 6 | O




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many kpas does a npsMoyroibHas npusMa have?
1.
2) How many kpas does a cdepa have?
2.
3) How many Bepiunsl does a TpeyrosibHas npusma have? 3
4) How many muna does a npsMoyronbHas npu3ma have? 4.
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3.
6) How many kpas does a npsmoyrosnsHas nupamuaa have? 6.
7.
7) How many kpas does a TpeyroibHas npusma have?
8.
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9.
9) How many kpas does a npsMoyroybHas mupamuaa have?
10.
10) How many Bepumnsl does a cdepa have?
11.
11) How many nuua does a ky0 have? b
12) How many muua does a cdepa have? 13
13) How many kpas does a xy6 have? 14.
14) How many Bepiuunsl does a mpsAMOyrobHas nmpusMa have? 15.
16.
15) How many Bepumnsl does a Kky6 have?
17.
16) How many Bepmmnbl does a npsMoyroyibHas nupamuaa have?
18.
17) How many Bepiunsl does a npsiMoyrosibHas mupamuia have?
18) How many nuna does a TpeyronbHas npusma have?
M 7 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many kpas does a npsMoyroibHas npusMa have? 12
1.
2) How many kpas does a cdepa have? 0
2.
3) How many Bepumnbt does a TpeyroibHas npu3ma have? 3 6
4) How many nuia does a npsaMoyrosbHas npusma have? 4. 6
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3. 4
6. 6
6) How many kpas does a npsmoyrosnsHas nupamuaa have?
7. 9
7) How many kpas does a TpeyroibHas npusma have?
8. S
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9. 8
9) How many kpas does a npsiMoyroibHas upamua have?
10. 0
10) How many Bepumnsl does a cdepa have? 6
11.
11) How many sura does a ky6 have? b 1
12) How many muua does a cdepa have? 13 12
13) How many kpas does a xy6 have? 14. 8
14) How many Bepiuunsl does a mpsAMOyrobHas nmpusMa have? 15. 8
16. 5
15) How many Bepumnsl does a Kky6 have?
17. 4
16) How many Bepumnsl does a npsiMoyroJibHast mupamuia have?
18. 5
17) How many Bepiunsl does a npsiMoyrosibHas mupamuia have?
18) How many nuna does a TpeyronbHas npusma have?
M 7 1-10 |94 [89[83 [ 78 [ 72|67 | 61|56 | 50 | 44|
aTeéMaTuka www.CommonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepiunbl does a mpsAMOyroJibHas nmpusMa have?
1.
2) How many auna does a npsamMoyrojibHas npusma have?
2.
3) How many muna does a cdepa have? 3
4) How many kpas does a ky0 have? 4,
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3.
6) How many kpas does a TpeyronbHas nmpusma have? 6.
7.
7) How many Bepumnsl does a TpeyrosibHas npuzma have?
8.
8) How many kpas does a cdepa have?
9.
9) How many snuna does a TpeyrosibHas npusma have?
10.
10) How many kpas does a npsMoyroibHas npuzma have?
11.
11) How many Bepiunsl does a npsiMoyrosibHas mupamuia have? b
12) How many Bepmmnsl does a cepa have? 13
13) How many suna does a ky6 have? 14.
14) How many snia does a npsmoyrosbsHas nupamua have? 15.
16.
15) How many kpas does a npsmoyronbHas nupamuaa have?
17.
16) How many Bepiunsl does a ky6 have?
18.
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
M 8 1-10 |94 [89 [ 83 [ 78| 72] 67| 61|56 [ 50 | 44 |
ATCMATHKA 4 o\ commonCoreSheets.ru 11-18[39[33 2822 17]11] 6 | 0




=

Xapakrepuctuku 3D-duryp (Word) Umst:

Kiwu k IpaBUJIBHBIM OTBETaM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepiunbl does a mpsAMOyroJibHas nmpusMa have? 8
1.
2) How many auna does a npsamMoyrojibHas npusma have? 6
2.
3) How many muna does a cdepa have? 3 1
4) How many kpas does a ky0 have? 4. 12
S) How many nauua does a mpsMoyrosbHas nupamuzaa have? 5. 4
6. 9
6) How many kpas does a TpeyronbHas nmpusma have?
7. 6
7) How many Bepumnsl does a TpeyrosibHas npuzma have?
8. 0
8) How many kpas does a cdepa have?
9. S
9) How many snuna does a TpeyrosibHas npusma have?
10. 12
10) How many kpas does a npsMoyroibHas npuzma have? 4
11.
11) How many Bepiunsl does a npsiMoyrosibHas mupamuia have? b 0
12) How many Bepmmnsl does a cepa have? 13 6
13) How many nuua does a ky6 have? 14. S
14) How many snia does a npsmoyrosbsHas nupamua have? 15. 6
16. 8
15) How many kpas does a npsmoyronbHas nupamuaa have?
17. 8
16) How many Bepumnsl does a ky0 have?
18. 5
17) How many kpas does a npsiMoyroyibHas nupamuia have?
18) How many Bepumnbl does a psiMoyroibHas upamuia have?
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Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepunb does a ky6 have?
1.
2) How many kpas does a ky6 have?
2.
3) How many Bepiunsl does a TpeyrosibHas npusma have? 3
4) How many muna does a cdepa have? 4,
S) How many Bepiuunsl does a npsiMOyrosibHas pu3Ma have? 3.
6) How many kpas does a cdepa have? 6.
7.
7) How many snuna does a npsMoyroJibHas npusma have?
8.
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9.
9) How many Bepiuunbl does a npsAMOyroybHas mupamuaa have?
10.
10) How many Bepumnsl does a npsMoyrosbHas nupamuga have?
11.
11) How many muua does a npsMoyronbHas nupamuga have? b
12) How many kpas does a npsmoyrosbHas nupamuaa have? 13
13) How many kpas does a TpeyronbHas npusMa have? 14.
14) How many kpas does a npsmoyroyibHas nupamuia have? 15.
16.
15) How many Bepmmnbl does a cepa have?
17.
16) How many nuua does a ky6 have?
18.
17) How many nuua does a TpeyronbHas npusMa have?
18) How many kpas does a npsimoyrosbHast ipu3Ma have?
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XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemure kaxayr 3axauy. OTBeTHI
1) How many Bepunb does a ky6 have? 8
1.
2) How many kpas does a ky6 have? 12
2.
3) How many Bepiunsl does a TpeyrosibHas npusma have? 3 6
4) How many muna does a cdepa have? 4. 1
S) How many Bepiuunsl does a npsiMOyrosibHas pu3Ma have? 5. 8
6. 0
6) How many kpas does a cdepa have?
7. 6
7) How many siuna does a npsaMoyroJibHas npusma have?
8. S
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9. S
9) How many Bepiuunbl does a npsAMOyroybHas mupamuaa have?
10. 4
10) How many Bepumnsl does a npsMoyrosbHas nupamuga have? 4
11.
11) How many muua does a npsMoyronbHas nupamuga have? b 8
12) How many kpas does a npsmoyrosbHas nupamuaa have? 13 9
13) How many kpas does a TpeyronbHas npusMa have? 14. 6
14) How many kpas does a npsmoyroyibHas nupamuia have? 15. 0
16. 6
15) How many Bepmmnbl does a cepa have?
17. S
16) How many nuua does a ky0 have?
18. 12
17) How many nuua does a TpeyronbHas npusMa have?
18) How many kpas does a npsimoyrosbHast ipu3Ma have?
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Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many Bepunb does a ky6 have?
1.
2) How many Bepiunsl does a MpAMOYrojibHas mupamuaa have?
2.
3) How many kpas does a npsmoyrosibHas npusma have? 3
4) How many Bepumnbl does a cdepa have? 4.
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3.
6) How many Bepiunsl does a TpeyronbHas mpusma have? 6.
7.
7) How many Bepumnsl does a npsmMoyroyibHas nupamuaa have?
8.
8) How many kpas does a TpeyronbHas npusma have?
9.
9) How many kpas does a cdepa have?
10.
10) How many kpas does a npsMoyronsHas nupamuzaa have?
11.
11) How many kpas does a npsiMmoyrosibHas mupamua have? b
12) How many nmia does a npsmoyrosisHas nupamua have? 13
13) How many nuua does a npsMoyronsHas npusMa have? 14.
14) How many Bepiuunsl does a mpsAMOyrobHas nmpusMa have? 15.
16.
15) How many nuua does a cdepa have?
17.
16) How many kpas does a ky6 have?
18.
17) How many nuua does a ky0 have?
18) How many nuna does a TpeyronbHas npusma have?
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XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemure kaxayr 3axauy. OTBeTHI
1) How many Bepunb does a ky6 have? 8
1.
2) How many Bepiunsl does a MpAMOYrojibHas mupamuaa have? 4
2.
3) How many kpas does a npsmoyrosibHas npusma have? 3 12
4) How many Bepumnbl does a cdepa have? 4. 0
S) How many nauua does a mpsMoyrosbHas nupamuzaa have? 5. S
6. 6
6) How many Bepiunsl does a TpeyronbHas mpusma have?
7. S
7) How many Bepumnsl does a npsmMoyroyibHas nupamuaa have?
8. 9
8) How many kpas does a TpeyronbHas npusma have?
9. 0
9) How many kpas does a cdepa have?
10. 6
10) How many kpas does a npsMoyronsHas nupamuzaa have? 8
11.
11) How many kpas does a npsiMmoyrosibHas mupamua have? b 4
12) How many nmia does a npsmoyrosisHas nupamua have? 13 6
13) How many nuua does a npsMoyronsHas npusMa have? 14. 8
14) How many Bepmmnbl does a mpsMoyronbHas npusMa have? 15. 1
16. 12
15) How many nuua does a cdepa have?
17. 6
16) How many kpas does a ky6 have?
18. 5
17) How many nuua does a ky0 have?
18) How many nuna does a TpeyronbHas npusma have?
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